EARAROBREBRT —5 XN—ZXBISH—F 2023568208 (X)) 4EIEHME

mA 6 - B3 USSR ‘(fﬁl 8 ‘[%EH%FEEH - | 5 1w B
[xE%] 1% :550,000H  23&:193,000 M  33#&:110,000 9 . 43%&:5500 M  53&:27,000H
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
. BERERE : -4-3- - “EEER (%)
11117 HAIAL LT I— 4 3 5 1.(2_5).6 5-4-3-3 | 37.7 1 (4:&36) f%]l”lég N
RINIIKRY B h—tVA—FvR BR|t IRF«4T77—L4
~ 4 | BIEE 1:28.9 1-1-1-1 [38.6| — 7 462 | JIISSAE (¥EH1)
] 4|9/ * =0 (1 1/2) ) | @0 77 R hEvay
RIRTVFUY ALY =S
. prem— . 22 - WHGE) (S
3055 AIEVR 4 4 54.0% 1.(239).6 2-2-2-2 | 39.1 5 122)7 tﬁ%—( %)
RVILN=RF—t B:L—YS54 MRIAB FFEIHUS
S — ft 4 | AR 1:29.7 4-5-5-4 |38.7| - 3 M6 | BAB— (M)
4 2| AAMY3aT KD 54.0 1/2) 1) |dEASE
RIVIRAI—ZZRI— B:XAY3T/AF PNl
—tyEw R 44 | B 1:30.0 7-6-7-7 |39.0| -— 2 460 |BEES ()
5 3 r—tr+v R 57.0 (1 1/2) -3) %Jl”‘ég
R:O—IRAURAA B A=A =T BREAH IXF«T7—LA
AEEE : ~7-6- - HLLLE ()
6177 | ZILINT b= ) 1'(351)'1 bree |02 e (4_438) wiE )
RiPAIWNTTFH— B:7PI9TS A =te]
S y == BiAs : _3-4- _ TR (S
7lglgl¥v R7ZILTFZ X 4 5 k] 1(731:; 3-3-4-5 | 40.4 6 z:gia %ﬂg (EE41)
RIAVYVTSvya B:yvROL—Y #HBI7—L
- Ry P plEES 3 -8-8- - TR ()
8 6| TTAT A IRR ' 4 g (17.3511% 8-8-8-8 | 39.5 4 (1_1?; it A
Ri/ITURN B:ITIFvY )12
@ 11— —BBIEfI
1T=zr= 4,5,8,2,1,7,3,6
20— — 4,5,8,1,2,3,7,6
30—7— 4,5,1,8,2,7,3,6
43— — 4,5,1,2,8,7,3,6
o ILRE
B B 1 3404 JA R 1-4 1,010 B E 1-4 2,770 3EE 1-4-5 7,850
7B B 1 160 1-5 710 =51 1-4 3,240 3EH 1-4-5 35,150MH
4 2404 4-5 1,600/
5 250

ABIC OV TRUTEREERRODDZE. THRIIZEL.



